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General Instructions:

i.  All questions are compulsory
ii.  There is no overall choice in the question paper. However, an internal choice has been
provided in few questions. Only one of the choices in such questions have to be attempted.

HISTORY

I. Choose the correct option. [1x9=9]
1. e are the handwritten books which are written on palm leaves.
A. Inscriptions
B. Manuscripts
C. Decipherment
D. Both (a) & (b)

2. Old Stone Age was called
A. Palaeolithic
B. Mesolithic
C. Neolithic
D. None of the above

3. In earlier cities, the part to the west was smaller but higher and was called:
A. Lower town
B. Upper town
C. Citadel
D. Scribe

4. The word -------- means big stone.
A. Chalcolith
B. Neolith
C. Microlith
D. Megalith

5. The universal soul has been referred to as:
A. Tanha
B. Karma
C. Atman
D. All of these



6. After how many years of becoming a king Kalinga was conquered by Ashoka.
A. Five
B. Six
C. Seven
D. Eight

7. The chiefs and kings who controlled the river valleys were:
A. Rich and powerful
B. Poor but powerful
C. Rich but not very powerful
D. Poor but not very powerful

8. How many rulers were there in Dakshinapatha ?
A. Ten
B. Twelve
C. Fourteen
D. Sixteen

9. Harshacharita has been written in
A. Hindi
B. Prakrit
C. Sanskrit
D. Pali

II. Differentiate between the following : [2x2=4]
1. Rigvedic Rajas and Dasas
2. Empires and Kingdoms

III. Answer the following questions : [3x2=6]
1. How do archaeologists know that cloth was used in the Harappan civilization?
2. What were the problems that Ashoka wanted to solve by introducing dhamma ?

IV. Answer the following questions in detail. [5]

1. Write any three main features of Bhakti. (3)

2. Why do you think ordinary people were attracted to Bhakti ? (2)
OR

1. Define Mahayana Buddhism and write any one feature of it. (2)

2. Discuss the reasons why the Chinese pilgrims came to India. 3)

V. Read the paragraph given and answer the following questions : [4]

Harshavardhana and the Harshacharita

While we can learn about the Gupta rulers from their inscriptions and coins, we can find out
about some kings from biographies. Harshavardhana, who ruled nearly 1400 years ago, was
one such ruler. His court poet wrote his biography, the Harshacharita. This gives us the
genealogy of Harsha, and ends with his becoming king. Xuan Zang, also spent a lot of time at
Harsha’s court and left a detailed account of what he saw.

1. Who was Xuan Zang ? (1)
2. Who was the court poet of Harshavardhana? (1)
3. How do we know about some kings and rulers ? (2)



CIVICS;-

I. Choose the correct option :

1.

The word ‘dzos” means
A. Goats

B. Meat

C. Pashmina shawls
D. Yak cows

. Name the Indian personality who faced caste based differences.

A. Dr. Bhim Rao Ambedkar
B. Jawaharlal Nehru

C. Atal Bihari Vajpayee

D. Indira Gandhi

. ‘Suffrage’ refers to :

A. The right to eat

B. The right to live
C. The right to vote
D. The right to suffer

. Subdivisions of a district are called :

A. Tehsil
B. Taluka
C. Both (i) & (ii)
D. None of these

. How do most people of Pudupet earn their living ?

A. Working at rice mil
B. Fishing

C. Paddy cultivation
D. Agricultural labours

II. Answer the following questions in short.
1. List any two ways in which the non whites were discriminated against in South Africa.
2. Mention about any two responsibilities of the police.

ITII. Answer the following questions in detail.
1. What are the sources of funds for the Panchayat ?

2. Who was Thulasi ? Why did she borrow money and from whom ?

IV.Answer in detail.
What tasks are performed by the Municipal Corporation and what are its sources of income for
performing those tasks ?

OR

[1x5=5]

[2x2=4]

[3x2=6]

(1+2=3)
[5]

(4+1=5)

What do you understand by the term Sub-contracting ?Who was Yasmin Khala and why did
the children go to Yasmin Khala’s house?

(2+1+2=5)



V. Read the given passage carefully and answer the following questions: [4]
Bachchu Manjhi— A Cycle-Rickshaw Puller
I come from a village in Bihar where I worked as a Mason. My wife and three children live in
the village. We don’t own land. In the village I did not get masonry work regularly. The income
that I earned was not enough for our family.
After I reached this city, I bought an old cycle rickshaw and paid for it in installments. This was
many years ago.
I come to the bus stop every morning and take the customers wherever they want to go. I work
till 8:30 in the evening. I take rides of up to 6 kilometres in the surrounding area. Each customer
gives me Rs. 30-40 per trip depending on the distance. When I am illl can’t do this work so on
those days I don’t earn anything,.

I stay with my friends in a rented room. They work in a nearby factory. I earn between Rs. 300-
450 every day, out of which I spend Rs. 150-200 on food and rent. I visit my village two or three
times a year to see my family. Though my family survives on the money I send, my wife also
earns from agricultural work that she gets once in a while.

1. Why did Bachchu Manjhi come to the city ? [1]
2. Bachchu Manjhi has to think twice before taking a day off from work. Why ? [1]
3. Why do people prefer working in an organized sector ? [2]
GEOGRAPHY
I. Choose the correct option:- [1x4=4]

1. Asteroids are found between the orbits of
A. Venus and Earth
B. Mercury and Venus
C. Mars and Jupiter
D. Jupiter and Saturn

2. Outer planets are made up of.
A. gases and liquids
B. gases and rocks
C. liquids and rocks
D. rocks

3. A map showing the boundaries of states or countries is
A. Physical Map
B. Political Map
C. Thematic Map
D. None of these

4. The yellow colour is used for showing
A. Water bodies
B. Mountains
C. Plains
D. Plateau



II. Answer the following questions in short:- [3x3=9]

1. Write any three points of difference between the Summer and Winter Solstice.
OR

What would happen if the earth did not rotate?Explain any three points.

2. Why is the biosphere important for living organisms? How have we disturbed its delicate

balance? [1+2=3]
3. Which winds bring rainfall in India? Why is it so important? [1+2=3]
ITI. Answer the following question in detail-: [5]
1. How are mountains useful to man?Explain any five points.
OR
How are plains formed?
IV. Read the given extract and answer the following questions:- [4]

The mid-day sun is exactly overhead at least once a year on all latitudes in between the Tropic of
Cancer and the Tropic of Capricorn. This area, therefore, receives the maximum heat and is called
the Torrid Zone. The mid-day sun never shines overhead on any latitude beyond the Tropic of
Cancer and the Tropic of Capricorn. The angle of the sun’s rays goes on decreasing towards the
poles. As such, the areas bounded by the Tropic of Cancer and the Arctic Circle in the Northern
Hemisphere, and the Tropic of Capricorn and the Antarctic Circle in the Southern Hemisphere,
have moderate temperatures. These are, therefore, called Temperate Zones.

Areas lying between the Arctic Circle and the North Pole in the Northern Hemisphere and the
Antarctic Circle and the South Pole in the Southern Hemisphere, are very cold. These are called
Frigid Zones.

IV.1What is the latitudinal value of the Tropic of Cancer? [1]
IV.2Whydoes the torrid zone receive the maximum amount of heat? [1]
IV.3 Why are Frigid zones very cold? (2]
V. Draw, label and colour the diagram of volcanic mountain. [3]
VI. Locate and label the following on the given physical map of India: [1x3=3]

i) Aravali Range
ii) Gulf of Kachchh

iii) Andaman and Nicobar Islands
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Attempt all questions. However there are internal choices. Rough work to be done in
the right margin.

PHYSICS
1. Which of the following controls the flow of current in a circuit ?
(a) Wire
(b) Switch
(c) Battery
(d) Bulb

2. Which of the following property is the sure test of magnetism.
(a) Attraction
(b) Repulsion
(c) Both(a) and (b)
(d) None of these

3. What is the SI unit of length?
4. How many poles does a ball ended magnet has?
5. The height of a person is 1.72 metre. Express it into centimetre and millimetre.

6. (@) What is shadow ?
(b) What do you mean by rectilinear propagation of light?

[1]

1

1
[1]
[2]

[2]

7. Why are electric wires made out of copper or aluminium and not of silver even though itisa

better conductor of electricity?

8. (a) What kind of motions are observed in a pendulum of a clock?

[2]

(b) Why could you not use an elastic measuring tape to measure distance ?what would be some
of the problems you would meet in telling someone about a distance you measured with an

elastic measuring tape?

[3]

9. (a) Can you think of creating a shape that would give a circular shadow if held in one way and

rectangular shadow if help in another way?
(b) Draw a well labelled diagram of pinhole camera.

10. (a) Differentiate between conductors and insulators.
(b) The handles of the tools like screwdrivers and pliers used by electricians for
repair work usually have plastic or rubber covers on them .Can you explain why?

[3]

[3]



11. (a) How many north poles and South poles would there be in all if you break a magnet into 20
pieces?
(b) A bar magnet has no markings to indicate its poles.How would you find out near which
end is its North Pole located? [3]

12. Attempt either A or B
A.

1. Draw a well labelled diagram of an electric bulb.

2. Explain one activity to classify coins,cork, plastic scale and aluminium foil as conductors and

insulators.
OR
B.
1. State two properties of a magnet.
2. You are given an iron strip. How will you make it into a magnet. [5]
CHEMISTRY
I. Very short answer questions. [1x5 =5]

1. Which among the following is a magnetic material
(a) Iron (b) Nickel (c) Cobalt (d) all of these

2. Name the chemical used as a disinfectant of water
(a) chlorine (b) alum (c) charcoal (d) all of these

3. Is dissolution of sugar in water a physical or chemical change?

4. Name the process along with the chemical which is added to speed up the sedimentation
process.

5. During a change a new substance having different properties is formed. Is the change a
chemical or physical change?

II. Short answer questions. [2x4=8]

6. Differentiate between saturated and unsaturated solution .How can a saturated solution be
made unsaturated?

7. A glass of ice water is put in an air tight container as shown below. After a short while, state
whether the air in the container will contain less water vapour or more water vapour? Give
reasons for your answer.

Air tight container

oo , Water droplets

:

. Glass of ice water

2



8. (a) What is meant by aqueous solution ?
(b) How the solubility of a solid and gas in water, changes with rise in temperature?

9. Why do we observe many earthworms on earth's surface during monsoon?
III. Long answer questions. [3x3 =9]

10. (a) Why do iron articles placed in moist air get covered with reddish brown substance when
exposed to moist air ?
b) Is this process a reversible or irreversible change ?
c) What can be done to regain its lustre?

11. (a) Why do traffic police wear mask on busy roads ?

(

(
(

(b) Why fishes cannot survive in distilled water?
(

(

12. (a) What is drought?
b) What are the problems faced by the people living in the areas having drought conditions?

IV. Very long answer questions. [1x5 =5]
13. (a) Which term described the amount of water vapour in the air?

(b) Which gas is used to extinguish the fire?

(c) Show with the help of an activity that air (oxygen) is required for burning.

OR

(a) Name the device that can be used to produce electricity by using the wind energy.

(b) Which of the processes respiration or photosynthesis, is the major source of oxygen in the
atmosphere?

(c) Show with the help of an activity that air has mass.

BIOLOGY

I. Choose and write the correct option - [2x1= 2]

1. Which among the following statements is wrong-

(@) Vitamin C gets destroyed on heating.

(b) Sportspersons need plenty of carbohydrates and proteins in their diet.
(c) Obesity is a condition caused by unhealthy eating habits.

(d) We can obtain all the vitamins from our diet.

2. Select the correct option to fill in the blanks-

All animals do not have an/a (i) — —- skeleton. They move with the help of (ii) — — —- which
(iif) — — — — and (iv) — — —- to help them in locomotion. Some animals have (v) — — —-skeleton
such as scales which help in movement.

(a) (i)internal, (ii)muscles, (iii)contract, (iv)relax, (v)external
(b) (i)bony, (ii)joints, (iii)contract, (iv)relax, (v)external
(© (
(d) (

)
i)bony, (ii)scales, (iii)expand, (iv)contract, (v)cartilage.
i)external, (ii)muscles, (iii)contract, (iv)relax, (v)internal



II. Answer in short - [2x1= 2]

3. Why should we avoid overcooking of food?
4. How does the baby plant inside the seed get nourishment to germinate?

ITII. Answer the following questions - [4x2= 8]

5. (a) What is diet?
b) On what factors does the diet of a person depend? Mention two points.

6. (a) What are synthetic fibres?
b) Write one advantage and one disadvantage of synthetic fibres.

7. (a) What is stimulus and response?
b)Mention two characteristics which help mountain animals to survive in their environment.

8. (@) What is landfill?
b) Write two disadvantages of throwing wastes in a landfill.

.<
(
N
(
N
(
N
(

IV. Answer as directed- [3x3=9]

9. (a) Why are flowers called the reproductive parts of a plant?
(b) Name any two vegetative parts of a plant.
(c) Why is stem called a two way street?

10. Give reasons for the following statements-
(a) Frogs have strong hind limbs.
(b) Submerged aquatic plants have ribbon- like leaves.
c) Predators have eyes at the front of their face.

(
11. (a) Write two points of difference between biodegradable and non- biodegradable wastes.
(b) Mention two ways in which use of vermicompost is beneficial in farming.

V. Choose and answer any one of the following questions- [2+1+2=5]

12. (a) Draw a labelled diagram of a ball and socket joint.
(b) Why do snakes have a long and flexible back bone?
(c) Write two points of difference between movement and locomotion.

OR
(a) Draw a labelled diagram of a hinge joint.
(b) What type of movement does it allow?
(c) Write two points of difference between bones and cartilages.
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GENERAL INSTRUCTIONS :
1. The question paper is divided into three sections: A, B & C.

2. Itis compulsory to attempt all the sections.
3. Handwriting carries marks.

SECTION - A
READING [20 Marks]

I. Read the poem carefully and answer the questions that follow:

THE FRIENDLY COW

1. The Friendly Cow, all red and white
I love with all my heart;
She gives me cream with all her might
To eat with apple tart.

2. She wanders lowing here and there
And yet she cannot stray,
And in the pleasant open air,
The pleasant light of day.

3. And blown by all the winds that pass
And wet with all the shadows
She walks among the meadow grass,
And eats the meadow flowers.

-R.L. Stevenson
1. Who is ‘she’referred to in the poem?
2. The love of the poet for the Cow is.....
a) selfish b) sincere c) false
. How do you say that the cow is completely loyal and domestic?
. The word ‘lowing” means.....

. What is the rhyme scheme in each stanza?

N O o~ W

. The poet takes cream with..........

[1x10=10]

d) impure



7. What does the cow in the poem like to eat ?
8. What is the theme of the poem?
9. What is the shade of the cow?

10. Where does she wander?

II. Read the following passage and answer the questions that follow: [1x10=10]
START EVERYDAY WITH A SMILE
“When you're smiling ... The whole world will smile with you”.

A smile is more powerful than words. A sincere smile is a wonderful thing. A good salesperson
knows its value---it's even more important than the value of the product. Consider our closest
animal cousin the chimpanzee, sharing more than 95 percent of our DNA. When a chimp shows
its teeth, the message is ,back off...it's danger. Even crocodiles look like they are smiling.
According to Angus Trumble’s book” A Brief History of the Smile *, the nerves that make a natural
smile are different from the ones activated by a false one.

Consider the most famous smile of all, the’‘Mona Lisa’. In a 2003 study, Harvard Professor
Margaret Livingstone claimed Leonardo Da Vinci painted the ‘Mona Lisa’so that if you stare
straight at her mouth at close range, the famous little smile is not evident- only if you view the
whole face, it can be seen.

SMILE! a sincere smile is still a beam of light in this world. Smiles tend to create their own
weather systems. One can do it for a particular reason to begin with, but it then tends to be self-
perpetuating. Try to smile. Behave a certain way and the mind will come around. Let the tail wag
the dog. SMILE... it is infectious and has immense power to heal our hearts .

Remember, when someone makes a disagreeable remark, a smile can help turn things around. So,

SMILE

1. What message do you get when a chimp shows its teeth?
2. The genetic material shared by human beings and chimps is ...
a) DNA b) RNA c) Ribosomes d) Genes
. Who painted ‘Mona Lisa’?
. How can you overcome a disagreeable remark?
. Importance of smile is more than..........
. How can you differentiate a natural smile from a false one?
. How can you view Mona Lisa’s smile?

. A sincere smile is a..............

O© o N o U o~ W

. Do you agree a smile can turn around things? How?

10. What do you understand by the word ‘ self- perpetuating’?
a) Stay forever b) Rude c) Helpless d) Dependent



SECTION - B
WRITING [10Marks]

1. Write an application to the Principal asking for a leave of four days due to your sister’s

wedding. [80 words] [5]
OR

Your school organized a Project Model Exhibition in which you won the first prize. Write a

diary entry expressing excitement and happiness.[80words] [5]

2. Make a readable story from the outlines given below. Give a suitable title and also write its

moral.[ 100- 120 words] [5]
Robert Bruce, King of Scotland......... often fought for the freedom of the country............ no
success......... very sad........ he sees a spider drops by its thread from the ceiling ............ tries to
get back to its web........... again drops.......... succeeds in ninth attempt......... inspired by the
example, Bruce tries again............ succeeds.

GRAMMAR [25 Marks]

1. Identify the Subject and the Predicate in the following sentences. [1x2=2]
a) What an intelligent boy you are!
b) The tourists insisted on a refund from the travel agent.

2. Read the following sentences and identify whether the verbs are Transitive or Intransitive.
a) Manu drank a glass of milk.
b) He spoke rudely. [1x2=2]

3. Underline the Adjectives and state their kind: [1x2=2]
a) Those note books belong to Sandeep.
b) Today is Radha’s first international dance performance.

4. Change the following sentence into Indirect Speech.: [1x2=2]
a) Sharmika said, “My daughter is singing on stage for the first time”.
b) He said, “  have done my homework ”.

5. Fill in the blanks with suitable Degree of Comparison: [1x2=2]
a) Delhi is (cold) than Ranchi.
b) This sofa is the (soft) of all.

6. Underline the Phrases in the following sentences and state their kinds: [1x2=2]

a) The large horse in the stable is mine.
b) A man of great knowledge entered the room.

7. Underline the Main clause and Subordinate Clause in the following sentences. [1x1=1]
Give me the book which I received as a gift.
8. Do as directed: [1x12=12]
a) M.C.D workers the roads. (Use the Past Tense form of ‘sweep’)

b) The vegetable seller sells vegetable. (Rewrite in Present Continuous form)

3



c) Generally I for a walk at 6 am, but today I after sometime. (Use correct form of
the verb ‘go” in the blanks.)

d) Mamta ____ ( get) the e-mail of her friend. (Use Present Perfect Tense)

e) I know her address.( Change the sentence into Passive Voice)

f) The policeman caught the thief. (Change the sentence into Passive Voice)

g) I respect his decision. (Use a correct Auxiliary Verb in the blank)

h) You__ ride my bicycle for a few days.( Use a Modal in the blank)

i) Why didn’t you come______ ? (Use an Adverb of Time)

j) There are many vegetables in this basket and each _____a different name.( has/have)
k) Eat all the food____you will be hungry. ( and/or/but)

1) Make hay__the sun shines.( after/before/while)

SECTION - C
LITERATURE [25Marks]
I. Read the following lines and answer the questions with reference to context. [1x4=4]

a) ‘My heart-strings round thee cling,
Close as thy bark, old friend!”
1. Who is “thee’ referred to in the above line?
2. What emotion is shown in the above line?
3. Identify the figure of speech used in the above line.
4. Why is the poet calling it old friend?

b) ‘I ran as fast as I could to where I had gone first'.

1. Who is the speaker? [1]
2. Why did the speaker run as fast as he could? [1]
3. Where did the speaker run to? Describe the place. [1+1=2]
II. Write answers (Any 5 ) of the following questions in short. (30-40 words) [2x5=10]

1. Why was Mullah Nasreddin forced to sell his ancestral house?

2. What disappointed Kalam on his visit to the Bokaro Steel Plant?

3. Describe the giant’s family.

4. What does the speaker want the children to do with old newspapers?
5. Explain the meaning of “Stop sitting on the fence’.

6 . How did the speaker get stranded on the strange island?

7. Why was the speaker tearful in the poem “Woodman, Spare That Tree’?



III. Write the following answer in 70-80 words. [5]

Have you ever planted a tree? Why should we plant trees? Give three reasons. What will
happen to humans and animals if the trees are not there?

OR
Though enormous in size, the people of the island were not cruel. Describe the character of the
master in the light of this statement.

IV.STARKEN GLOSSA [1x2=2]

1. Give the meaning of the phrases ‘For good'.
2. Make a sentence with the word * Brawl’.
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SAIL TOWNSHIP, RANCHI
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Class - VI Subject - Mathematics
Time - 3 Hours Maximum Marks - 80

General Instructions:

1.

AR

The question paper has 5 sections A to E.

Section A has 20 MCQ’s carrying 1 mark each.

Section B has 5 questions carrying 2 marks each.

Section C has 6 questions carrying 3 marks each.

Section D has 4 questions carrying 5 marks each.

Section E has 3 case based integrated units of assessment (04 marks each) with subparts of the value
of 1, 1 and 2 marks each respectively.

All questions are compulsory. However, an internal choice in 2 questions of 5 marks, 2 questions of 3

marks and 2 questions of 2 marks has been provided. An internal choice has been provided in the 2

marks questions of Section E.

) 22 L )
Draw neat figures wherever required. Take © =7Wherever required if not stated. Do rough work in the

right margin neatly.

SECTION - A [20X1=20]

. The total number of 4-digit numbers is

(a) 8999
(b) 9000
(c) 8000
(d) 9999

. Number of whole numbers between 38 and 68 is

(@) 31
(b) 30
(c) 29
(d) 28

. The smallest prime number just greater than the HCF of 84 and 144 is

(@) 11
(b) 17
(c) 19
(d)13

. What least number should be replaced by * so that the number 37610*2 is exactly divisible

by 9?
() 8
(b) 7
() 6
(d)5



. The correct fraction in the box o is o -

. By joining two points on a circle, we obtain its

(a) Radius

(b) Diameter

(c) Chord

(d) Circumference

. If a bicycle wheel has 36 spokes, then the angle between a pair of adjacent spokes is
(a) 10°

(b) 15°

(c) 20°

(d) 12°

. Which of the following integers have 5 as a difference
(a) 10,5

(b) -10, -5

(c) 15,-20

(d) Both (a) and (b)

O If g is equivalent to 3 , then the value of x is
X

(@) 3

(b) 6

(c) 4

(d)9

®lu
]
NI

6
(a) 5
(b) 2
© 5
(d) None of the above
.9.02-57=?
(a) 3.32
(b) 3.23
(c) 2.32
(d) None of the above

. The decimal 0.238 is equal to the fraction

119
@) =55
238
(b) 5
119
© %
119
d)—
. The number of times an observation occurs in a data is called
(a) frequency
(b) width
(c) range
(d) Tally mark



13. The perimeter of a square is 40cm, then the length of its each side is
(@) 20cm
(b) 10cm
(c) 5cm
(d) 40cm

14. How many envelopes can be made out of a sheet of paper 72cm by 48cm, if each envelope
requires a paper of size 18cm by 12cm?
(a) 4
(b) 8
(c) 12
(d) 16

15. 9 taken away from the sum of x and y is
(@) x+y-9
(b) 9-(x +y)
x+y
Chre
9

d) =

x+y

16. The equation 4x=16 is satisfied by the following value of x
(a) 4
(b) 2
(c) 12
(d)-12

17.1f a, b, ¢, d are in proportion, then
(a) ab=cd
(b) ac=bd
(c) ad=bc
(d) none of the above

18. A ratio equivalent to 2:3 is
(a) 4:3
(b) 2:6
(c) 6:9
(d) 10:9

19. The number of lines of symmetry of a rectangle is
(@) 0
(b) 2
(c) 4
(d)1

20. Two or more circles drawn from the same centre are
(a) Congruent
(b) Concentric
(c) Concurrent
(d) None of these



21.

22.

23.

24.

25.

26.
27.

28.

29.

30.

SECTION - B[ 5X2=10]

A box contains 2,00,000 medicine tablets, each weighing 30mg. What is the total weigh of
all the tablets in the box in grams and in kilograms?

Draw diagrams of two angles such that they have
(@) Two points in common
(b) Four points in common

What does the angle made by the hour hand of a clock look like when it moves from 5 to 7.
Is the angle moved more than 1 right angle?

Shabana wants to put a lace border all around a rectangular table cover, 3m long and 2m
wide. Find the length of the lace required by Shabana.

OR
A Floor is 10m long and 6m wide. A square carpet of sides 5m is laid on the floor. Find the
area of the floor which is not carpeted.

The ratio of copper and zinc in an alloy is 9:7. If the total weight of alloy is 22.4kg, find the
weight of copper in it.
OR
Determine if the given ratios form a proportion:
25cm: 1m and Rs.40: Rs.160

SECTION - C [6X3=18]

Find the product using distributive property: 4275 x 125

Find the sum:
(a) 37 + (-2) + (-65) + (-8)
(b) -17 -18 -(-35)

Suman purchased 5kg 75g of fruits and 3kg 465g of vegetables, and put them in a bag. If
this bag with these contents weighs 9kg. find the weight of the empty bag.

The lengths in centimetres of 30 carrots are given as follows:

15, 22, 21, 20, 22, 15, 15, 20, 20, 15, 20, 18, 20, 22, 21, 20, 21, 18, 21, 18, 20, 18, 21, 18, 22, 20, 15,
21,18, 20

Arrange the data given above in a table using tally marks and answer the following
questions:

(a) What is the number of carrots, which have length more than 20cm?

(b) Which length of carrot occurs maximum number of times?

In a village, there are 8 water tanks to collect rain water. On a particular day, x litres of rain
water is collected per tank. If 100 litres of water was already there in one of the tanks, then
what is the total amount of water in the tanks on that day?

OR
Take Sarita’s present age be y years.

(i) What will be her age 5 years from now?
(ii) Sarita’s grandfather is 6 times her age. What is the age of her grandfather?

4



(iii) Sarita’s father’s age is 5 years more than 3 times Sarita’s age. What is her father’s age?

31. Draw a line segment of 12.8cm. Using compasses, divide it into four equal parts. Verify by
actual measurements.
OR

Draw an angle of measure 135° and bisect it.

SECTION - D [4x5=20]

32. Find the smallest 4-digit number which is divisible by 18, 24 and 32.
OR
Four bells toll at intervals of 4, 7, 12 and 84 seconds. The bells toll together at 5 O’clock.
When will they again toll together? How many times they do it in 28 minutes?

33. A women worker earns Rs.18000 in 15 months.

() How much does she earn in 7 months?
(i)  In how many months will she earn Rs.30000?
OR

Present age of father is 42 years and that of his son is 14 years. Find the ratio of

(i) Present age of father to the present age of son.

(ii)  Age of the father to the age of son, when son was 12 years old.
(iii)  Age of father after 10 years to the age of son after 10 years.

(iv)  Age of father to the age of son when father was 30 years old.
(v)  Present age of father to his age before 20 years.

34. On a squared paper, sketch the following:
(a) A triangle with a horizontal line of symmetry but no vertical line of symmetry.
(b) A quadrilateral with both horizontal and vertical lines of symmetry.
(c) A quadrilateral with a horizontal line of symmetry but no vertical line of symmetry.
(d) A hexagon with exactly two lines of symmetry.
(e) A hexagon with six lines of symmetry.

35. Draw a circle with radius 4cm. Draw any two of its chords. Construct the perpendicular
bisectors of these chords. Where do they meet?

SECTION - E [3x4=12]

36. In the morning, a milkman filled 5% litres of milk in his can. He sold to Renu, Kamala and

Renuka %litre each, to Shadma he sold % litre, and to Jassi he gave 1% litres.

(a) How many litres of milk did the milkman sell to Renu, Kamala and Renuka together?
(b) How much total milk was sold in all?
(c) Out of Shadma and Jassi, who got more milk and by how much?
OR
How much milk is left in the can?



37. The bar graph given below represents the circulation of newspapers in different languages
in a town. Study the bar graph and answer the following questions:

Scale: 1 unit length = 200 newspapers

Urdu =

Languages

Number of newspapers ——

(@) What is the circulation of English newspaper?
(b) Name the two languages in which circulation of newspaper is the same.
(c) By how much is the circulation of newspaper in Hindi more than the newspaper in
Bengali?
OR
What is the total circulation of newspapers in the town.

38. Five square flower beds each of sides 3m are dug on a piece of land 12m long and 6m wide.

12m

(a) Find the perimeter of the land.

(b) What is the total area of land.

(c) What is the total area of flower beds?
OR

What is the area of remaining part of land?
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1) v fishes are found in tropical and subtropical regions.
a) Saw fish
b) Parrot fish
¢) Sail fish
d) None

2) e are named for their bird like beak, which they use to scrape up corals.
a) Parrot fish
b) Sail fish
¢) vulture
d) Sea bird

3) e is one of the fastest fish in the ocean.
a) Rock fish
b) Rougheye
c) Parrot
d) Sail fish

4) ... can live for over a hundred years.
a) Rougheye rock fish
b) Sail fish
c) Parrot fish
d) All the above

o) IR is to be the world's smallest fish and vertebrate.
a) Paedocypris
b) Rougheye
¢) Sail
d) Fish

6) In which state of India is the valley of flowers situated.
a) Rajasthan
b) Bihar
c) Haryana
d) Uttarakhand



7) e mineral deficiency cause anaemia.
a) Iron
b) Calcium
c) Phosphate
d) None

8) The finger like projections of the small intestine that help in absorption of food are called............
a) Pepsin
b) Ulcer
¢) Villi
d) None

9) Doctors study this organ with the help of a machine called EEG.
a) Heart
b) Brain
¢) Kidney
d) None of the following

10

~—

The ........ on the Parana river at the Brazil Paraguay border.
a) Itaipu dam
b) Barra grade

c) Campos Novos
d) None

11) .......... is a system of underwater natural gas pipelines.
a) Nord Stream
b) Strohm

¢) Panama
d) None

12

~—

The ........ is awarded for acts of supreme gallantry.
a) Victoria cross

b) Bharat Ratna

¢) Param Vir

d) Booker prize

13) ........ is Swaminathan's friend in class who is nicknamed 'the Pea'.
a) Shylock
b) Samuel
¢) Dracula

(oW

) Mongoose

14) ......... is the owner of a chocolate factory in Roald Dahl's.
a) Willy Wonk
b) Anton
) James
d) None



15) ........ was a famous Russian playwright and master of the modern short story.
a) Victor Hugo
b) Gabriel
¢) Anton Chekhov
d) None

16) Who is best known for his novel 'The Name of the Rose'.
a) Umberto Eco
b) James Baldwin
¢) Toni
d) None

17) ....... National park is situated in Nilgiri hills.
a) Jim Corbett
b) Keoladeo
c) Kaziranga
d) Bandipur

18) She became the Sarpanch of her village in Rajasthan and is one of the youngest person in India
with an MBA degree to hold the post.
a) Chhavi Rajawat
b) Kalpana Chawla
¢) Mary Anderson
d) Margaret

19) This is the smallest country in the world.
a) Austria
b) Vatican
¢) Peru
d) Canada

20) It is an e- book reader by Amazon.
a) Kindle
b) I- Pod
c) Apple Watch
d) None of the following

21) Where would you find Olympus Mons?
a) Mars
b) Titan
¢) Saturn
d) None

22) Percy Spencer invented ........
a) Lie detector
b) Micro wave oven
c) Plastic
d) None



23) Which artist holds the record for the most number of Grammys,that is 31st till date?
a) Nomadland
b) Sir George Solti
c) George
d) Anthony

24) Who was the Jackal- headed deity of the Egyptian civilization.
a) Shang Ti
b) Anubis
¢) Alexandria
d) None

25) Which of the following was a popular board game in ancient Egypt?
a) Senet
b) Pachisi
¢) Monopoly
d) None

26) Which is the hottest planet in the Solar system?
a) Saturn
b) Venus
c) Earth
d) None of the following

27) When is World Homoeopathy day ?
a) April 10th
b) May 11th
c) July 14th
d) June 5th

28) The square root of 1764 is?
a) 36
b) 42
c) 82
d) 74

29) Who has been appointed as the first woman chairperson of SEBI?
a) Sundari Picharia
b) Madhabi Puri
c) George
d) None
30) Where is Hemis National park situated?
a) Jammu and Kashmir
b) Delhi
c) Punjab
d) Chandigarh



31) Name the first Airline to use the "Sun to liquid" fuel in the world?
a) Swiss Airlines
b) Jet Airways
c) Indigo
d) Air Asia

32) Name the currency used in Belgium?
a) Pond
b) Yen
¢) Euro
d) Rupee

33) Which Vitamin is known as anti sterility vitamin?
a) Vitamin E
b) Vitamin B
¢) Vitamin C
d) Vitamin D

34) Making India awesome is penned by ..........
a) Chetan Bhagat
b) Sahil Rao
¢) Ruskin Bond
d) None

35) Pongal is a harvest festival in Tamil Nadu.
a) True
b) False
¢) Not Clear
d) None

36) When you're asleep, which is the active body part?
a) Ear
b) Eyes
c) Tongue
d) None of the following

37) How many time zones are there in the world?
a) 22
b) 21
c)24
d) None
38) Which is the Saltiest ocean in the world?
a) The Red Sea
b) The Yellow Sea

¢) The Mediterranean Sea
d) All the above



39) What are Pyramids of Giza?
a) Royal Tombs
b) Rocky
¢) Merchandise
d) None

40) Which mammal doesn't have Vocal cords?
a) Bat
b) Giraffee
¢) Horse
d) Deer

41) The FNB stadium,also called .......... has hosted many sellout concerts of international artist.
a) Soccer City
b) Hockey
¢) Cricket
d) Badminton

42) Which word does not belong with the others?
a) Index
b) Glossary
c) Chapter
d) Book

43) Which word is the odd man out ?
a) Trivial
b) Unimportant
¢) Important
d) Insignificant

44) CUP: LIP :: BIRD : ?
a) Grass
b) Forest
c) Beak
d) Bush

45) Safe : Secure :: Protect : ?
a) Cock
b) Guard
) Sure
d) Conserve

46) Which Union Minister launched the "Prajjwala challenge"?
a) Ministry of housing and urban affairs
b) Ministry of Rural development
¢) Ministry of Home affairs
d) Ministry of Agriculture welfare



47) Which Cabinet has decided to merge it's districts with hoisting ones and redraw boundaries in
14 places?
a) Punjab Cabinet
b) Assam Cabinet
¢) UP Cabinet
d) Bihar Cabinet

48) Which airline introduced a new software for real time reporting of in flight incidents?
a) Indigo
b) Air India
c) Space jet
d) Vistara

49) Complete the series?
BHO, GMT, LRY, ?

a) QWD
b) ACD
) FMO
d) WER

50) Find the wrong term in the following series:
MDH,NFE,OHC,PED,QBF

a) MDH
b) NFE
¢) OHC
d) QBF



DELHI PUBLIC SCHOOL

SAIL TOWNSHIP, RANCHI
ANNUAL EXAMINATION  (2022-23)

Class - VI Subject - Computer Science
Time -1 Hour Maximum Marks- 50

I. Choose the most suitable alternative:

i) BCC stands for:

a) Built Carbon Copy

b) Blind Carbon Copy

¢) Blind Computer Copy
d) None of these

i) This tag is used to add line break

a) <LB>
b) <LR>
¢) <BR>
d) <HT>

iii) Which of the following is the correct syntax to add image?

a) <img src="url">
b) <image src="url">
¢) <src img="url">
d) <img srcing="url">

iv) Which block contain commands to change the background colour of the simulator screen?

a) Logic
b) Scene
¢) Math
d) None of these

v) The value or variable on which calculation is performed as known as :

a) Operand
b) Operator
c) Syntax
d) Coding

II. Fill in the blanks:

) U block enable to set the sound effect including volume ,tune etc.

b) .......... operators are used to compare two values.

c) The default alignment of images that are inserted in the web pages is ......... .
d) The word hypertext was coined by ..........

[1x5=5]

[1x5=5]

€) e, are the malicious programs that hinders the normal and smooth functioning of the

computer System.



III. Underline the error in HTML code and write about the missing codes.
<HTML>
<HEAD><TITLE>ERROR DETECTION </HEAD>
<BODY BGCOLOUR="GREEN">
</HTML>

IV. Answer in one word:

a) The virus that silently infects a program or host Computer:

b) This tag is used to draw shaded horizontal line:

c¢) The extra features added to the tags to enhance its appearance :
d) This symbol is used for connecting parts of a long flow chart:
e) This block is used declare a new variable:

V. Short notes(Any 3 out of 4)

a) Simulator b) Coding ¢) Domain name d) Logical Operators

VI. Differentiate between. (Any 2 out of 3)
a) Virus and Antivirus b) Container and Empty tags c¢) Flowchart and Algorithm

VII. Write the Pseudocode to find the area of rectangle.

VIII. Draw a flowchart to enter marks of three subjects and display its total.
IX. Write an algorithm to find square of a number

X. Long answer questions: (Any 4 out of 6)
a) Explain any three symbols used in flowchart.
b) Explain if statement and if else statement.
¢) Write the steps to create and save HTML document.
d) Write the html code for the formula H,S04,
e) Write two symptoms of malware attack and two ways to prevent it.
f) Write the use of MakeCodeArcade.

[1x3=3]

[1x5=5]

[2x3=6]

[2x3=6]

3]
[4]

3]

[2.5X4 =10]




DELHI PUBLIC SCHOOL

SAIL TOWNSHIP, RANCHI
ANNUAL EXAMINATION  (2022-23)

Class - VI Subject - Health and Physical Education
Time - 1 Hour Maximum Marks- 50

General Instructions

—_

The question paper consist of 50 multiple choice questions.
All questions are compulsory.
3. All questions carrying one mark (1X50 = 50)

N

1.  What is the name of Postural Deformity caused due to increased forward curve at the lumber
region?
(a) Knock knees
(b) Scoliosis
(c) Kyphosis
(d) Lordosis

2. How many arch are present in the foot of human being?
(a) 1
(b) 3
()4
(d)5

3. Explosive strength is the combination of
(a) Flexibility and speed
(b) Speed and strength
(c) Endurance and speed
(d) None of these

4. The maximum effort made to lift a weight is called
(a) Explosive strength
(b) Endurance
(c) Speed
(d) Maximum strength

5. Cleanliness is the part of
(a) Hygiene
(b) Social hygiene
(c) Personal hygiene
(d) None of these

6.  Which one of the following is an unhealthy habit
(a) Sharing food
(b) Bathing twice a day
(c) Drinking boiled water
(d) Eating without washing hand



10.

11.

12.

13.

14.

15.

Which country is winner of FIFA World Cup 2022?
(a) Argentina
(b) France
(c) Japan
(d) Brazil

Which country hosted FIFA World Cup 2022?
(a) Qatar

(b) China

(c) Japan

(d) Mexico

Who won the Golden Boot in FIFA World Cup 2022?
(a) Lionel Messi

(b) Kylein M Bappe

(c) Luka Modric

(d) Cristiano Ronaldo

FIFA is the global regulatory body of which sports?
(a) Hockey

(b) Cricket

(c) Football

(d) Tennis

What is the length and width of the Kho - Kho field ?
(@) 27 m x 16m
(b) 25m x 15m
(c) 22m x12m
(d) 24m x 13m

What is the height of the posts in kho - kho ?
(@) 1.10m to 1.15m

(b) 1.20m to 1.25m

(c) 1.05m to 1.10m

(d) 1.15m to 1.18m

Which of the following is not a spinal curvature deformity?
(a) Kyphosis

(b) Flat foot

(c) Lordosis

(d) Scoliosis

“Dhanurasana” is used for curing which of the following deformity?
(a) Kyphosis

(b) Scoliosis

(c) Lordosis

(d) Flat foot

Resistance ability against fatique is called
(a) Stength

(b) Endurance

(c) Flexibility

(d) None of these




16.

17.

18.

19.

20.

21.

22.

23.

24.

Stretching exercise improves
(a) Flexibility

(b) Strength

(c) Endurance

(d) None of these

Which of the following factors is necessary for healthy person?
(a) Balance diet
(b) Personal hygiene
(c) Proper exercise
(d) All of these

The germs attack your teeth and form small holes known as
(a) Spots

(b) Marks

(c) Cavities

(d) All of these

In the FIFA World Cup 2022 who won Golden Ball for the best player
(a) Lionel Messi

(b) Kylian M. Bappe

(c) Robert Lewandowski

(d) C. Ronaldo

Argentina beat which country to win in the final of FIFA World Cup 2022.
(a) Japan

(b) France

(c) Brazil

(d) Fiji

What is the Mascot of FIFA World Cup 2022?

(a) Zakumi

(b) Striker

(c) Phuleko

(d) La’eeb

Which nation will host the 2026 FIFA World Cup?
(@) Abu Dhabi and Dubai

(b) France and Germany

(c) U.S.A, Canada and Mexico

(d) India, Pakistan and Nepal

How many points are awarded, if a runner is out in Kho-Kho?
(@) Two

(b) Three

(c) Four

(d) One

How many officials are required in a Kho-Kho match?
(a) 8

(b) 10

(c)4

(d) 6



25.

26.

27.

28.

29.

30.

31.

32.

33.

Which of the following deformity is also called as “C” curve?
(a) Kyphosis
(b) Lordosis
(c) Scoliosis
(d) Knock Knees

Horse riding is the best exercise for treating which deformity?
(a) Knock Knees
(b) Bow legs
(c) Flat foot
(d) All of these

Dynamic strength is also called
(a) Isometric strength

(b) Isotonic strength

(c) Isokinetic strength

(d) None of these

The ability of muscle or body to overcome the resistance, under condition of fatigue is called

(a) Strength

(b) Endurance
(c) Flexibility

(d) None of these

Personal hygiene helps

(a) To protects from disease
(b) to build an Attractive
(c) Both (a) and (b)

(d) None of these

Germs live in
(@) Dust

(b) Water

(c) Air

(d) All of these

Who won the Men’s Hockey World Cup tournament 2023?
(a) Germany

(b) Belgium

(c) Netherland

(d) Australia

Which state organised Men’s Hockey World Cup tournament 2023?
(a) Jharkhand

(b) Uttar Pradesh

(c) Odisha

(d) Punjab

Who won women'’s under-19 T20 cricket world cup 2023?
(a) England

(b) India

(c) Australia

(d) Newzealand



34.

35.

36.

37.

38.

39.

40.

41.

42.

Who won the Australian open men’s tennis tournament 2023?
(a) Rafel Nodal

(b) Novack D Jokovic

(c) Daniil Medvedev

(d) Casper Rudd

How many players are there in a Kho-Kho team?
(a) 12

(b) 15

(c)8

(d)7

How many innings are there in a Kho-Kho match?
(@)1
(b) 2
()3
(d)5

Kho-Kho is popular sports of which state in India?
(a) Chennai

(b) Kerla

(c) Maharashtra

(d) Sikkim

In which one of the following deformities, both the knees knock and touches each other

while in normal standing position.
(a) Flat foot
(b) Knock knees
(c) Both (a) and (b)
(d) None of these

400 m sprint event comes under
(a) Speed Endurance
(b) Short term Endurance
(c) Middle Term Endurance
(d) Long Term Endurance

What is the best way to prevent the spread of germs

(a) Eat healthy

(b) Wash your hand

(c) Cover your mouth with your hand when you sneeze
(d) All of the above

Who won the Australian Open Women'’s Tennis tournament 2023?
(a) Ash Barthy

(b) Elena Rybokina

(c) Aryna Sabalenka

(d) Sarena Williams

Who was selected as ICC “T-20 cricketer of the year”?
(a) Dinesh Karthik

(b) Yuzvendra Chahal

(c) Suryakumar Yadav

(d) Shreyas Iyer



43.

44,

45.

46.

47.

48.

49.

50.

The term “Fake-Kho is associated with which sports?
(@) Judo
(b) Kabaddi
(c) Karate
(d) Kho-Kho

What is the duration of each innings in Kho-Kho?
(a) 10

(b) 8

()9

(d) 11

“Walk on heels” is the good remedy of which deformity?
(a) Knock knees

(b) Lordosis

(c) Flat foot

(d) None of these

Who is the youngest Indian cricketer to score 200 in ODI 2023?
(a) Ishan Kishan

(b) Rohit Sharm

(c) Shubman Gill

(d) Suirya Kumar Yadav

Basic endurance is also called
(a) Aerobic Endurance

(b) Anaerobic Endurance

(c) Both (a) and (b)

(d) None of these

Personal hygiene includes
(a) Dental hygiene

(b) Bathing

(c) Hand wash

(d) All of these

Who won the Adelaide international men’s tennis tournament 2023?
(a) Novac D Jokovic
(b) Roger Federer
(c) Casper Rudel
(d) Rafel Nadal

The famous player “Shobha Narayan” is associated with which Game?
(a) Kabaddi

(b) Cricket

(c) Football

(d) Kho-Kho



DELHI PUBLIC SCHOOL

SAIL TOWNSHIP, RANCHI
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Class - VI Subject - French
Time - 90 Minutes Maximum Marks - 40

SECTION - A
Reading - 5Marks
Lisez le texte et répondez aux questions.

Jennifer est étudiante. Elle est anglaise. Elle apprend le francais a 1'école. Elle parle bien le francais
et I'anglais. Elle travaille dar. Elle finit toujours ses devoirs a I'heure. Les professeurs sont contents
avec elle. Elle aide aussi ses amis. Le dimanche, ils font un pique-nique. Ils vont dans un jardin
pres de leur maison et ils jouent, ils chantent, ils s'amusent. La mere de Jennifer fait de trés bons
sandwichs. Elle fait des sandwichs pour Jennifer et ses amis.
1. Répondez. [5]

a. Quelle est la nationalité de Jennifer ?

b. Quelles langues parle-t-elle ?

c. Ou font-ils un pique-nique ?

d. Qui fait des sandwichs pour Jennifer et ses amis ?

e. Quelle apprend jennifer a I'école ?

SECTION- B
Writing - 5Marks

Décrivez : 5 Marks (5 sentences ) Any one

1) Ma maison / présentez - vous

SECTION - C
Grammer
1. Completez pars les adjectifs possessifs : [5]
1) Je vais avec amie.
2) Les enfants jouent avec meére.
3) Ils parlent a professeur.
4) Tu parles cousine.
5) Tuest ami.



. Conjuguez les verbes :

1) Nous ( Voyager)
2) Tu ( préférer)

3) Nous (nager)

4) Tu (finir)

5) Elles ( attendre)

. Ecrivez les nombres ordninaux :

1) 1
2) 5
3) 20
4) 9
5) 12

. Completez avec article définis ou partitifs :

1) Nous n’aimez pas viande ?
2) Mon frere mange viande.

3) Je bois café

4) Tu préfére thé

5) Tu prends chocolats.

. Mettez les phrases a l'interrogatif avec Est-ce que/qu’
1) Vous prenez le bus.

2) Tu attends ton ami.

3) Elle fait ses devoirs.

4) 1l fait chaud.

Conjuguez les verbes donnent :

1) Voir
2) Pouvoir
SECTION -D
Literature - 5M
1. Répondez :

1) Nomme des monuments frangais .
2) Nommez des fleuves franqais.
3) Nommez deux villes francais.
4) Ecrivez les repas frangais.
5) Nommez deux montagne frangais

[2.5]

[2.5]

[6]
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1. | Was passt zusammen: 1x5=5

1. Geht es Ihnen gut, Frau a. Nein, ich mochte lieber Tee.

Schmidt

2. Was mochtest du? b. Ja, danke, mir geht’s sehr
gut.

3. Mochtest du ein Glas Milch?  c¢. Nein, danke.

4. Was mochten sie, Herr d. Ja, ein Glas Mineralwasser

Miiller? Kaffee? trinke ich immer gern.

5. Trinkst du ein Glas e. Ich mochte eine Cola.

Mineralwasser?

2. | Schreib die bestimmten Artikel: .5x5=2.5
Kaninchen
Bananen
Pferd
Katze
Maus

oo o

3. | Schreib die Pluralformen: 5x5=2.5
Ein Apfel
Eine Wurst
Ein Vogel
Eine Maus
Ein Hamster

oo o

4. | Erginze: .5x5=2.5
a. Deutsch/ lernen/ Sie/?

b. Er/ im Winter/ gern /Ski/ fahrt/

c. gehst/ du/ wohin/ dem Kurs/ nach/?

d. Der Tiirkei/du/ kommst/ aus/?

e. Kommen /aus/Neu Delhi/Herr /Wagner?

5. | E-Mail Schreiben:Du bekommst ein Mail von Stefan. 5
Lieber Peter,

Ich heipe Stefan und wohne in Ranchi. Ich komme aus
Deutschland. Woher kommst du? Wo wohnst du? Bist du ein
Student?

Schreib mir bald. Ich warte auf deine Antwort.

Viele Griife
Stefan

Schrieb die Antwort im 30 Worter. Antwort auf diese fragen

Wo wohnst du? Woher kommst du? Bist du ein Student?




Mag, magst, mogen, mogt .5x6=3
1. du Tiere?
a. Mag
b. Magst
c. Mogen
d. Mogt
2.Ich Tiere sehr.
a. Mag
b. Magst
c. Mogen
d. Mogt
3. Petra keine Kaninchen.
a. Mag
b. Magst
c. Mogen
d. Mogt
4. Mein Hund Zoravar keine Katzen.
a. Magst
b. Mogen
c. Mag
d. Mogt
5. Es Salat und Karotten.
a. Mogen
b. Mogt
c. Magst
d. Mag
6. Ich Papageien.
a. Mogen
b. Mogt
c. Mag
d. Magst
Stell Fragen: 1x6=6
a. ? Ich trinke eine Limonade.
b. ? Ja, das ist ein Sofa.
C. ? Nein, der Garten ist nicht
grofs.
d. ? Es geht.
e. ? Ja, ein Tee trinke ich
immer gern.
f. ? Nein, danke. Ich esse

nichts.




Lies den Text und Antwort die Fragen:

Hallo, mein Name ist Simone Becker. Ich wohne mit meinen Eltern
in einem Einfamilienhause in Heidelberg. Das Haus hat drei
Schlafzimmer, ein Wohnzimmer, eine Kiiche und einen Garten. Der
Garten ist klein, aber schon. Mein Zimmer ist ziemlich klein, aber
durch das Fenster kann ich in den Garten sehen. Im Zimmer sind
mein Bett, ein Schrank und ein Regal fiir meine Comics und
Musikinstrumente. Denn meine Comics und Musikinstrumente.
Denn meine Hobbys sind Musik und Comics lesen.

A. Antwort die fragen Ix5=5
i. Wo wohnt Simon?
ii. Wie viele Kiiche hat das Haus?
iii. =~ Was sind seines Hobbys?
iv. Was sind da in seinem Zimmer?
V. Mit wem wohnt Simone?

B. Richtig oder Falsch 1x5=5
i. Simon wohnt in Frankreich.
ii. Sein Hobby ist Tanzen.
1ii. Er hat drei Zimmer im Hause.
iv. Das Haus hat keinen Garten.
v. Das Regal ist fiir Comics und Musikinstrumente.

Erginze: Werden. 1x6=6
a. Opa, Oma, wie alt Thr?

b. Wie alt du, Markus.

¢. Im Dezember ich zwolf.

d. Morgen hat Martina Geburtstag. Sie 15.
e. Mein Freund Pankaj im Juli.

f. Dieses Jahr wir 98 und 75.
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1. Rewrite any four of the following romaji in Hiragana.
ryokou

kitte
syougakkou
rokunensei
syakai

N U1 = W N -
— — — — ~— ~—

kugatsu kokonoka

2. Fill in the blanks with the correct option and complete the sentence.

1) BESEHN . (WET I BYET)

) HO&STILTTEN . (WET I BYET)

3) ®HEKRIA o (WET/BYET)

4 Chi xVCOBEATR . (WERBA | HYEBA)
5 &HLE. CBAZOLBE&LSH . (WETIBYET)

3. Match the following English words with the correct Japanese words.

1) & a) centre / middle
2) 5L% b) left

3) OV C) stairs

4) HKE d) up

5) 3% e) down

6) LI f) front

7)) FABD g) evening

8 AWEA h) back

9) @ i) right

10) B> A1 j) box

[4]

[5]

[5]



4. Write the days of the week in Japanese (Hiragana). [3]

5. Translate any four of the following sentences in Japanese (Hiragana). [4]
There is a bird on the tree.

There is a rubbish bin under the table.
There is a pen on the book.
There is a car in front of the bus.

Ol &= W N =~
~— ~— — ~— ~—

There is a big tree in front of the school.

6. Translate any three of the following Japanese sentences in English. [3]

1) CEARLVEOWTT,

2) ZHOFVTTALPAEELER>TVET,
3) €22 TLEEL,
4) HBLEASEVWADIHNEFRT,
5) DEVWAEHNZIEET,
7. Correct the wrong Hiragana character and rewrite the Hiragana. [3]

1) BAN<EEL

2) WAAAZD
3) BLEDRNTY
1) CRABERET
5 CAlEAD
6) ER&SCTLET
8. Write the meaning of any four of the underlined words in English. [4]

1) &35 0% 55 HI2<BYKT,
) WRIEB 2T HEEALSBYELI,
) BLIEAS TELBYRT HS, SHEZE2>TETLLLEE,
) FEZHFLOTIFLIBYRLIE,
)
)

Qa1 & W N

TAZERES ICLDE, HBLEF HOHTT,

6) LASAILLDE, EDOS ULAN $212F5TT,

9. Write an essay on “My Family” in Japanese (Romaji).Essay must be of minimum six
sentences. [4]



10. Read the following passage and answer the question in Japanese (Romaji).

TAWVA

ho

Ws-2L»VWELE,

CAICE,

CAICER,

BIL2HBENFLTIN?

FE<EF<D2LEARLVTT,

FW, BIZWABDLKDLEAKRBLWVWTTA?

FE<@FHHEDODOLENFRELVTT,

H5, OVS5XZ. OSRNZICREBALEVVERESI DK,

Ao BALEDSTIN?2EADE A,

FL. HAELVL, AN—BMIELSBELVVITE,

TREHLZEDPVET, EADTARRICVBNTETTL?

DIEZLESDIHFTETIT &K,

TREPDEAEDHHN VS DOLIEZN 2T,

FELEBZEAVWIILEL &S,

WOWZ, ThRZAYLLTHEERT,

1) Where are Hirabee and Takano san?

Ll

They are at a supermarket.
They are at a socks store.
They are at the library
They are at a cafe.

2) What is Hirabee looking for?

Pen
Hon

Ll s

Kutsu

Kutsushita

[5]



3) What colour of socks did Hirabee buy in the end?

Kiiro no kutsushita
Aka no kutsushita
Kuro no kutsushita

Ll s

Ao no kutsushita
4) Did Takano san also buy a pair of socks?

1. No, she didn’t buy any shoes.
2. No, she didn’t buy any socks.
3. Yes, she bought a pair of red socks.
4. Yes, she bought a pair of red shoes.

5) What colour did Takano san say she likes?

1. Kiiro
2. Kuro
3. Aka

4. Shiro
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Class - VI Subject - Spanish
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Write answers in complete sentences along with questions. Full marks will not be given if
answered in a word.

Responde a las preguntas siguientes de Empezamos : [8]
1. ;Doénde trabaja Raquel Pereira?

2. Quién es Raquel Pereira?

3. ¢Qué tiempo hace en primavera?

4. ;Qué vas a ser de mayor?

5. ;Doénde vas a trabajar?

6. ¢(Cuando es tu cumpleafios?

7. ¢Cuantos afios vas a cumplir?

8. (A doénde van César y Paloma?

Elige las palabras adecuadas y completa las frases : [5]
1. ........ es el ultimo mes del afio.

20 es el contrario de pelo corto.

3. Danieles .......... Toca el violin en una orquesta.

4. Las ......... protegen nuestros 0jos.

5. iQué es, qué es, que te da en la cara y nolo ves? ......

Completa las frases con la forma de 'ir+a+infinitivo' [2]
a. Miguely Ana ....... visitar a sus abuelos mafiana.
b. Yo ...... comprar un regalo para tu cumpleafios.
c. Césaryta...... jugar al fatbol en el recreo.
d.;No........ ducharte hoy?
Convierte en imperativo : [4]
a ... despacio (hablar, ta)
b. No......... rapido (hablar, ta)
Cooennnn verduras y frutas para buen salud (comer, tt)
d. No...... las comidas fritas (comer, tt)
€ eeenn en el cuaderno de espanol (escribir, tt)
f. No....... en la mesa (escribir, ta)
[ O despacio (bailar, vosotros)
h. No......... rapido (bailar, vosotros)



Completa las frases con la forma de 'tener que+infinitivo'
a.

b
C.
d

. Yo....... escribir los vocabularios en el cuaderno.
Ati......... aprender espafiol.
. Nosotros ....... esperar el autobus en la parada.

Completa las frases con la preposicion adecuada :

(a, con, de, por, en, para)

Comemos ...... mis padres ...... las dos.

A Ana le gustajugar ...... la tarde ..... el salén ... su casa.

. desayunar tomo leche y tostadas.

Completa las frases con la forma de 'poder+infinitivo'

a.

b
C.
d

Yono....... hacer este ejercicio dificil de ciencia.

C G ir vosotros a comprar el regalo para Sol?

JTa....... escribir las frases en espafiol?

. Nosotros ........ bailar en el cumpleanos de César.

Completa las frases con la forma de 'estar+gerundio’

a
b.
c

d

. Mario ...... por teléfono (estar+hablar)
Yo.......... el periddico. (estar+leer)
Mi amigoy yo ...... unas frases. (estar+escribir)
. Todos ....... el sol en la playa. (estar+tomar)

Coémo se usa la forma de 'hace impersonal’

En verano -

En primavera -

En otofio -

En invierno -

Adivina su profesion :-

Trabaja en una cocina. Fles .........
Trabaja en un periédico. Eles .......
Trabaja en un restaurante. Eles .......
Trabaja en un colegio. Ellaes ........

Usa el nimero ordinal :-

Toco el naimero 5. Voy ala........ planta.
Toco el namero 8. Subo ala ........ planta.
Toco el namero 9. Voy al ......... piso.
Toco el namero 7. Bajo al ....... piso.
Toco el namero 10. Subo al ....... .

Toco el nimero 2. Voy ala......... planta.

Escribe conjugacion de los verbos abajos :

Ser, estar, poder, tener, Ir

César y Paloma ........ hacer deberes este fin de semana.

[2]

[2]

[2]

[2]

[5]
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gvS — '

1. IrnfaRaas Teny ufswr weAmmM SR forad —

&I Bl U= | BT 8T Seadi=d | dretel: fIemeand I8 Teaf | au: el e |

I. T SR — (1/2x2=1)
(i) getre @1 gaf? (ii) & fderrq FRRf?

II. Tohdares IoRd — (1x2=2)
(i) arcTeT: femerar §F Teaf? (i) & B Saf?

I1. fomeu: Ifad SR o forad — (1/2x4=2)
(i) ‘g wer yalT — sia are fhame fae?

() wenf (@) wafa () g (&) g8t

(ii) ‘PUCT: B SHAiT — i TR Bus fhee

(@) HUrdT: (@) It (TT) BT (@) afrd

(iii) et sfa ue o1 fawfaa: aga?

(@) T (zr) ageft () o= (&) vt

(iv) "af sfa o< & daR?

(®) @< (@) < (T) IS (&) e

2. IENforRaay Tere ufdw@r yeaHr] SRy forad —

3 RTgoT: AR | S SergRAnt |fw | fdwrfa Safor | | e gaert A | gl sl W |
THRAT BRI W AR | 3 Teb I eRIAM |

I. U SRd — (1/2x2=1)
(i) ord @ 3rRA? (ii) or=a wfd gt dfa?

I1. Tohdares IoRd — (1x2=2)
(i) TR & & AR (ii) 31 & grAfA?



I11. fametw: Sfed SR faer foaa — (1/2x4=2)

(i) ‘o o sy — gty A ague f?

(@) s (@) o () Rraor: (&) Tw:
(i) T 3T e fd wIRus o ygadH?
(@) qan (@) “F=for (M) Fegert (C)RCENE
(iii) ‘o= g1 gy | — gfd g faRor ug fae?
(®) &= (@) et () o (&) wfs
(iv) g g gewa fofwr fbe?
(@) GfectT (@) wHfert QS ER (&) 7 sy
N——
3. SETERTINAR Rereer i qead — (1/2x4=2)
MGk e EECER]
NG| NIGY NIGAIE]
dQaoy —
e
4. i fawey R foraa — (1/2x4=2)
(i) < BU 3 UG BN AR & —
(@) ot (@) 7= () efor (&) 7=
(i) /=1 o QreRI THAGRT U € —
() MR (@) wAH () mTRH (&) TEH
(iii) =1 ® QR THAG T U & fFaaT § —
(®) go (@) Yo () aredy (&) gett
(iv) /1 # sreRIa TqASNT Ug § —
(®) ara: (@) ferm (m) arR: (&) aroT:
5. FeegaR gemuRads g foaa — (1x3=3)

(i) o g&iE @refd | (dgae) —
(ii) ST T Rigeafa | (Wdaed) — ————————

(iii) =rerep: HRIA @Wrafd | (Fgaa) —




o

(iii) = fasrem faufy|

(i) i —— fsfrar: |

(@) Rie: (@) Rierq
(i) ————— 3R gvaf |

(@) dro™ () e
(iii) wrerpr ———— af: e |
(@) TBTq (@) A

(iv) amRI: ————— SRE] TSl |
(@) ITET (@) TEmET

10. H&pd arearl 3= gare fud —

(i) & #1g: SR |
(i) &7 oA g et |

(1/2x6=3)

(1/2x4=2)

(1/2x4=2)

(1/2x4=2)

(1x2=2)



11. Sfud fawed forar foraa — (1/2x4=2)

() ‘ghed Forg; XA A — I H AR TS 8 —
(%) =7 (@) v (1) g (q) waf

(ii) == #rar Yo gafa’ | fea g 6 gy fawfaa § —
(®) 7 (&) o (m) wafa (&) #war
(iii) ‘T ¥rar A AT # foa ug # vy fawfad & —
() v (@) 7@ (m) &= (®) #=q

(iv) arfereri wqe: fered Teefa’ 4 fa ug # vt fawfaq & —

(@) Tz (@) faemerd (1) arferapT=i (@) Testa

12. PISHIA Sfad Us Fa@r Raawes {ad — (1/2x4=2)
M) ———— arfereer wsfer | (¢ / Tt/ TR

(i) ——————— guIior fdeaf | (FR: / Iae: / acdii)

(i) ——— RSICEEANCIVE-VAT)

(iv) ——————— 9"RT: @refd | (33 /e / Aio)

13. S Tew: Reaem+ Rad — (1/2x8=4)
G d@m,  —

i) s, 00— ————

(iii DY

(IV LIS

14. Sfert: a1ged: Reawm ®ad — (1/2x8=4)
Q) @eg 0 0o———

(i) ——— P ur=If~a

(i) oo, ——————

(iv) fosfa




